BARERMIIAIL ¥ 7 —

B OB

kcal/t= AlE < Bag/REEEg/ k7KL YI9/1R53 g

kecal/ Tz Al < Eg/REEE g/ R7K1EYIg /1R 539

kcal/t= AlE < Eg/REEE g/ R7KAEYIg /1B 539

134Kcal/6.09/3.89/19.69/1.6g

136Kcal/9.59/2.79/20.09/1.5g

137Kcal/6.79/6.0g/14.69/2.39

=D 384H 3858 3H6H 387H
=] (X () () (&)
WHULAYNY IR SAbUBREEFT FExYEh” J—YE—ZR*LLY
KEEEXK HFLHEE SOH 7Y 129 SR
& H¥it #¥t H¥t H¥it
B
; keal/t= Al < Eg/BEEg/RKIEYg/185g | keal/T=AlE < Eg/BEEg/RAEMg/EDg | keal/t=AlX < Eg/REEg/RKEMg/IERg | keal/t=AlL < Bg/BEEg/RKIEYg/1E5g
i} 133Kcal/9.49/5.09/14.29/1.6g 121Kcal/4.89/6.69/11.39/1.5g 218Kcal/8.19/12.39/19.29/1.4g 95Kcal/3.89/2.69/15.29/1.7g
4\‘ ..., .‘} 4 ‘ﬁ’/‘.‘:;“‘ \
. EC T o I '“y
‘ X p - 4
-
B 3H8H 3H9H 3810H
=] () (B A
ST BRABT S
MR ERONBL SR EBL YIFXIRM
H¥it €5t %5t

XERORBMIIEFTNTHEYFTA




